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Course Title : Political Geography
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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 1x10=10
@I wifs 2o Ted wie ¢
a)  What is Capital?

Aleie /e
b) Define State.
e -9 AR 01 |
c) What is Ecumene?
‘G 2
d) Define 'Perforated State'.
by AeT -7 TSz WIS |
e) Define Cultural Complex.
Aicghos aiberol e is |
f)  What is Ghetto?
EECRINRO RS
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g) What is decolonization?
@I FICE A 2
h)  What is Satellite Nation?
ICBeTED (i {2
1)  What is Frontier?
A 2
J)  What is the full form of NATO?
NATO-93 721 el (=74 |
k)  Define Isoglasses.
SRENAEP] -3 K 7S |
1)  What is Polyglot?
zelfRS (AAfealb) e
m) Define Nation-State.
(TH-(T5-gF AR NG |
n)  What is Landlocked Country?
THICEF (= FICF 0T 2
o)  What is water dispute in Indian Context?
IS AT e-am e (6 @i
Answer any five questions: 2x5=10

@I 216 ariF Ted wie ¢

a)
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What are the differences between Heartland
and Rimland?

BB @ AseTicea ey A<y mole et
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b)  Write two characteristics of Micro-State.
FE-AGH 40 T @19 |

c) Write the main features of Median-line
principle.
SeTl-ER Aife 3 @R @9

d)  Write examples of gerry-mandering.

AGATGP TG A FHRIHICEH SR SR WG |

e) What are two differences between enclave and

exclave?

‘GNFC 8 ‘IS AT ’{d% AL @2 |

f)  Write two main geographic influence on voting
pattern.

(ST-7aleq TR UG COICallers delx Srare el |

g) Define geography of representation in

Electoral geography.
bt Bali, afsfaf gralieTa ket M=ot e |
h)  What is Federalism?
Glareg 2
Answer any two questions: 5x2=10
@-(FIC 7B A T e ¢
a)  Write the features and advantages of GTA.
GTA-43 &M% ¢ Hfi<et @12l |

b)  What are the differences between geopolitics
and Political Geography?
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COANTTE ATAS @ ARG SN T A<

fersnolel el |
c) What is the present situation in Jammu and
Kashmir?
T @ FRF-9F TS #IfRfe T @14 |
Answer any one question: 10x1=10

@~ @36 Ao Ted Ml

a)  Write the theory of Heartland along with its
criticism. What is necessity of this theory?
What did Heartland theory predict?

T+15+14=10

BT gl FAEGIRTR (712 | 2 OTed ezl
2 2bee we e 7= [ v s 2

b)  Write the advantages and disadvantages of

Special Economic Zone of India. Is SEZ a
taxpayer? 9+1=10
©iace Special Economic Zone (SEZ)-43 7R
@3 sPfRgiefe @14 | @ft i Faemie

c¢) What are the present conflict over forest right
in out country? Will state driven expropriation
continue? 8+2=10
SIS (0 SR I AT R0 Flelefe
2 wier-sifavifere aceaigszd & @3 @0
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